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On this day:

a) Write the year he was created in Roman Numerals.  MCMXLI
b) How long ago was this? 80 years














Maths
	Date: 1.03.2021                             Title: Number - Decimals
              
	
LO: Dividing a fraction by an integer (whole number)

Link to today’s concept video: https://vimeo.com/490691239 (hyperlinks on the website)

	[image: ]Key Question: 
[image: ]Start with more practice if you did not get this correct or else move straight to fluency.



	Fluency:  G   I  

a) 0.65          b) 1.45         c) 0.28            d)  4.86            e) 1.35        f) 0.0076           g) 0.175        h) 0.355     

	Problem Solving:  G    I   

Super Saver – 19p each
TopBuys – 21p each
BestBuys – 22p each
Super Saver is the best value.

	 Reasoning: G   I  
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Testbase:    G   I 

	Support fluency:    G   I 








	More Practice:  G   I 
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£4.30
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	Spelling:
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Possible answer:

Tommyis
incorrect because
he cannot move a
hundredth to the
tenths.

He should have
exchanged the 2
tenths for
hundredths to get
an answer of 109
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M11. Award TWO marks for the correct answer of 14

If the answer is incorrect, award ONE mark for evidence of appropriate
method, eg

17.5x4=70

70+5
Accept for ONE mark 140 OR 1.4 as evidence of
appropriate method.
Answer need not be obtained for the award of ONE mark.
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Children may try A
as8and Cas2
but will realise that
this cannot
complete the
whole division.

Therefore Ais 4,B
is3and Cis1
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14 Endings: -tion -sion -cian -ssion
1. extension, comprehension

2. discussion, admission, permission

3. a) musician b) completion
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1) Draw hands on the clock to show
10:20am.

2) 567.32x100=56,732
3)10%0f235=23.5
4) How many days are there in May? 31 days
5) Write 2,342,535 in words

Two million, three hundred and forty two
thousand, five hundred and thirty-five
6)452x34=15,368
7)67.3x4.6=309.58
8)Find 1/7 0f2,576 =368
9)647 +5=129 12
10) 4/5 +5 =4/25
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1) If3/51s 18, whatis the whole? 30

2) 567.32x100=56,732

3)15%0f 235=35.25

4) How many days are there in May? 31 days

5) Write 2,342,535in words Two million, three

hundred and forty two thousand, five hundred

and thirty-five

6)452x34=15,368

7)67.3x4.6=309.58

8) Give 24 as a product of its prime factors.
2x2x2x3

9) 647 + 16 =40 7/16 or 40.44

10)5+4/5=25/a or 61/5

11)4/5+5=14/25

12) Find4/7 of 2,576 = 1,472





image3.png
81





image4.png




